Physics 101




Test 3



27 March 2017

Multiple Choice.  Choose the best answer to each question.  No partial credit given.


Each question is worth 3.0303 points.

____1.
A good heat insulator is a 


a)  poor conductor 
b)  good conductor
c)  neither

____2.
Your feet feel cooler on a tile floor than on carpet because the tile

a)  has more internal energy

b)  is a better conductor than the carpet

c)  is usually colder than the carpet
d)  none of these

____3.
If air were a better conductor than it is, in the daytime the earth would be


a)  considerably colder
b)  considerably warmer
c)  no difference

____4.
If a good absorber of radiation were a poor emitter, its temperature would be


a)  less than its surroundings
b)  more than its surroundings
c)  same

____5.
One of the reasons that cooking pans are outfitted with plastic handles is the

a)  low temperature of the pan

b)  low heat capacity of plastic

c)  low thermal conductivity of the plastic
d)  gamma rays from vector nebula

____6.
Condensation is a warming process because

a)  the vapor gains thermal energy to become a liquid


b)  the vapor has a high heat capacity


c)  the resulting liquid is warmer than the vapor

d)  the vapor gives up thermal energy to the surroundings to become a liquid

____7.
When a solid is changed to a liquid state, the solid

a)  releases energy
b)  absorbs energy
c)  neither

____8.
For a decrease in atmospheric pressure, the boiling temperature of a liquid


a)  goes down

b)  goes up

c)  remains at 100 degrees C

____9.
A refrigerator


a)  removes internal energy from the inside of the fridge

b)  causes internal energy to disappear



c)  produces cold

d)  changes heat into cold

____10.
Water will boil at a ________ temperature at sea level than it does at high altitudes

a)  lower
b)  higher
c) same

____11.
Different elements on the periodic table are distinguished by their differing number of

a)  protons
b)  electrons
c)  neutrons

____12.
How many atoms are there in a water molecule?


a)  one

b)  two

c)  three
d) four

____13.
The isotope 
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 has___________in its nucleus

a)  18 protons and 8 neutrons

b)  18 neutrons and 8 protons


c)  10 protons and 8 neutrons

d)  8 protons and 10 neutrons
____14.
A neutral atom has the same number of
a) protons and neutrons

b) electrons and neutrons

c) protons and electrons
____15.
Compared to a bar of pure gold, the density of pure water is


a) less
 
b)  the same

c)  more

____16.
When a balloon is blown up, its

a)  volume decreases

b)  mass decreases

c)  buoyancy decreases
d)  density decreases
____17.
A wooden block has a mass of 400 kg and a volume of 2 cubic meters.  Its density is


a)  100 kg/m3

b)  200 kg/m3

c)  500 kg/m3

d)  1000 kg/m3
____18.
If the mass of an object were cut in half while its volume remains the same, its density would


a)  halve
b)  double
c)  stay same

____19.  
At a depth where the water pressure on a submarine is 400 lbs/in2, what is the force acting on a rectangular section of the vessel that is 20 inches wide and 30 inches long?

a) 24,000 lbs
     b)  .666 lbs
         c) 1.5 lbs

d)  240,000 lbs
e)  666 lbs
____20.
Water pressure is least against the


a)  top of a submerged object

b)  bottom of a submerged object


c)  sides of a submerged object
d)  is the same against all surfaces

____21.
The weight of water displaced by a floating 20 ton ship is


a)  20 cubic meters

b) 20 tons 


c)  20 kg


d)  20 kg/m3
____22.
Buoyant force is greatest on a submerged


a)  1 m3 block of lead

b)  1 m3 block of aluminum
c)  same on each

____23.
An egg is placed at the bottom of a bowl filled with water.  Salt is slowly added to the 


water until the egg rises and floats.  From this observation, one concludes


a)  calcium in the egg shell is repelled by sodium chloride


b)  buoyant force does not always act upward

c)  the density of salt water exceeds the density of egg 

d)  none of these

____24.
On which is the buoyant force the greatest, a pound of ice or a pound of sand?

a)  The same buoyant force on each
b)  The ice
c)  The sand

____25.
Atmospheric pressure is caused by the 


a)  weight of the atmosphere

b)  composition of the atmosphere

c)  temperature of the atmosphere
d)  effect of the sun’s energy on the atmosphere

____26.
As a helium-filled balloon rises in the air, its density becomes


a)  less

b)  more
c)  no change
____27.
On a windy day, atmospheric pressure


a)  increases

b)  decreases

c)  remains unchanged

____28.
Your hat tends to fly off your head on a windy day because


a) the air on the top of the hat is moving and exerts less pressure

b) the air underneath the hat is warmer causing the hat to lift

c) buoyancy of the hat in air is greater when there is airflow

d) you are having a big hair day

____29.
It would be harder to pull evacuated Magdeburg hemispheres(in class) apart if they were

a)  held upside down


b)  at sea level




c)  20 km beneath ocean surface
d)  20 km above ocean surface

____30.
A substance that heats up relatively slowly has a 


a)  high heat capacity

b)  low heat capacity

c)  neither
____31.
When a bimetallic strip made of copper and iron strips is heated(in class), the bar bends


toward the iron strip because


a)  iron gets hotter before copper

b)  copper expands more than iron 

c)  copper gets hotter before iron

d)  iron expands more than copper

____32.
When water at 5 degrees C is heated its volume increases.  When water at 4 degrees C is cooled, its volume

a)  decreases

b)  increases

c)  neither

____33.
Aluminum has a heat capacity more than twice that of copper.  Place equal masses of aluminum and copper wire in a flame and the one to undergo the fastest rise in temperature is the


a)  copper

b)  both the same

c)  aluminum
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